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4. 2018 FLiOlA ZHA

20183 ZMPF (2017.12-2017.11)

Sy =4 H| 1 RSy = H| 1
o|23 101,503 SH=H5 2,377,080
TEHF 2,217,000 SHA =85 6,901,430
A 1,400,000 HEEE 801,420 22
S o e 310,000 16,700 ZHa
k=1 =g = 3,500,000 | 2SR EEES == 395,800 g4
SH+HE Y 1,270,000 84,000 MEEE
StH =gz 4,279,540 169,100
KR &2 0 530,000 Edr|= 98,250 HEE
FIERR|EZ 287,180
658,530 gkl
SEH| 29,700 F=
24%|22 74,000 ARE
HEAL 236,500
A Eaihg 500,000 | HD=2HEE

13,895,223

12,342,519




5. 20199 FLiOJA oAt

20194 Ofj AFQH

ol2= 1,552,704 o sl 1,505,000 | 73,000x15B 2l
TEda 2,200,000 BHA =33 6,000,000
oAMEa 1,500,000 g gl 1,500,000
Sl oful 300,000 600,000 | =4 3 7H4
H=s=gs
k1=t gmbA e 4,000,000 300,000 | M@UsTHG
sAxHE 2 1,095,000 (73000€ X 15% 300,000 ZHAHH|
ShH=g= g 1,750,000 |70,0002 X 25% EEXE 100,000 27|
LT 450,000 (300002 X 15% 200,000 MEH|
HES 687,296 100000 | == 93t
=&t

400,000 2P =l

300,000 (07 3 =TEF
S3x A3

300,000 | MHE 2=

300,000 | wEzEH)

ol g
O =
1,040,000 LT
HAEM 200,000
HErE 300,000

13,535,000 13,535,000

cho| ; @




